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SM2E2H1 38 (K)

@:E3::) (BT : kg )
FRSETEAR ==V H 2 5 1B Z B fm &

HE 6% N7~ 129.0 300 136
N1 70.1 20
UALhH 804.2 861 239
JUH LA 1,279.1 1,039 51
HAILA 100.8 289 20
E=X 251.1 1,090 339
=FHLA 68.3 330 26
FF= 97.0 3,500 129
55 257.5 150 20
EJOETE 61.4 16,300 1,800
RZXDAHZ 293.6 1,269 296
IWVINHZ (AX) 121.9 3,959 589
IWVINHZ (AX) 28.6 2,000 1,079
<)X 95.0 75 31
F+77>39 372.7 669 200
VAXTY 157.1 659 567
B ] 78.1 500 50
<7Frd 282.9 779 398
TIAITAF A 45.7 161 20
AXF 33.7 310 20
=X 36.2 409 50
7r+41 551.1 286 139

INGHE=E 5,215.1




[B¥fa] (BT ¢ kg )

RS fiE wE | BB | & E| BE
HE 6% FF 411.0 24,880 4 ga3 [PR:7c/s
! Bfi: c/s
) S5 M2 :36c/s
XZom 180.0 1’395 886 Biffi : c/s
TVAVTAF A58 160.0 1,239 566 = 32c/s
Biffi : c/s
astuE 5,966.1




@:E3::) (BT : kg )
FRSETERE mig H = = 1B Z B fm &
BEEXREE 778 [WHLA 304.9 509 211
XA LA 1,111.9 352 189
JUH LA 142.0 969 40
LZHLA 120.3 391 39
RXAIH LA 141.7 850 489
X 90.6 1,819 479
ESWYXHTZ 139.2 730 200
F+77>39 56.7 639 39
HFHS 220.7 53 20
AHITSSITA 126.6 900 739
finERiE 13€ AHITSSITA 915.7 820 689
NC 158 ESWYXHZ 63.1 793 200
EXTYRS 184.7 159 123
ERVHA 69.3 370 366

A
[ =]

T2

3,687.4




[i&&) (BT ¢ kg )
JRSETELE =SV N = = 1B /[E] B &
HE 68 <73 593.9 1,300 1,000
EEXRIE 772 |/ HL+ 119.1 500 400
AXF 40.0 300 100
<AL A 157.4 300 200
E=5X 704.6 2,000 600
oav-a 28.4 1,000 800
£ 25 E=5X 115.9 2,000 800
oav-1 27.7 1,000 600
h 158 <A 39.6 656 550
=45 63.6 765 450
ThSHATH 52.1 300 280
ait#E 1,942.3




